DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 5)

DIVISION WITH -10 TO 10 Name:
Time: Score: y—
361 60.79 + 1 = 376) 8198 + 2 =
i) —3466.2 + 6 = 1) —3185.6 = (—8) =
59 7734 = (—10) = 7 85170 + (—10) =

s60) - —30650 = 5 =

365 —75.42 =2 =

36) 517+ 1=

367) 620.83 =7 =

s68) —26710 = (—10) =
309 —=530.8 +1 =

370) 39325 + (=5) =
771 —3967.8 + (—6) =
312 —47999 = 7 =

3513 —=769.7 +1 =

57 199.62 + 9 =

5) 105.02 + 2 =

Mathematics: Division - Level 6 - Horizontal - Set 5
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—280.8 =+ (—3)
—9820 =1 =
—347.56 =4 =
—38130 +5 =
—211.9+1=
7405 +1 =
D272 +1 =

22143 +3 =

721.17 + (=9) =

—53346 = (—6)
2581+ (1) =

—15030 + (—5)


https://www.workulum.com

